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8A16H 8 1| BA 752 HREL RUVILERE 3421 |XE%E
8A16H 8 2|BA75ER AR WA 3,800 | X E%H
8A16H 8 3|81 75ER HREH ROVILERE 13,359 (X EL%F
8A16H 8 4|81 75ER HREH RUVILERE 1,188 | X B %5
8A16H 8 581758 HREH RUVIERE 2,398 | X E %8
8A16H 8 6| B 7555 HRSH RUUILAERE 5126 | X E%F
8A16H 8 NRECER |[ARSH WE 7,860 | X B
8A16H 8 g|it=fmit:R  |ARE# WA 2,186 | X E%H
8A16H 8 IHEIBIUERE |[HREH RUVILEREE 429 |(XE%8
8A16H 8 10FRAFR |[BAEME 50,400 E2#5
8A 168 8 HZERBER |BEAEMT 86,350 (A EAATL IS Ath
8A16H 8 12FREBFR  |BAEME 19,300 | TORILAAS
8A16H 8 B|ERBER |RBABM 104,500 & &R A&t
8A16H 8 14EZREBFR  |BEAEME 82,500 [T R—
8A16H 8 15ERBEBR |MAEHE RIEESR 37,950 [~/ )L
8A16H 8 16| 2RHBEFR |ARsHE +H4 64,100 [ R4th
8A16H 8 17| ZREER  |BABM 90,200 |1%E M
8A 168 8 1B|FRHBER |HBAREMA 84,875 |75 R/ \—fth
8A 168 8 19ERAER |BEAEMT 14,800 (YRS XT Ls
8A 168 8 20| FRYBER |IBAEMH 118,360 (E 5 /K EHfts
8A16H 8 21| FREER  |BRRARHE AnA 48,840 [HEE
8A16H 8 2|FRBER |AREME FHA 130,750 [#vpr—=—L @k




8H16H B FRYUBR  |BAEM 184,800 (w5 HRykRY)—
8H16H 0 ERHEHR  |BAREMH 35,000 |7 Eit

8A16H BIERBER |ARSH 44 13,360 [SvoEL a4
8H16H 26| FRHEFER |RBRDYIRHEALGL B —Mt
8A 168 21| FRHEER |BEREMH 87,560 |hASE=S— vk
8A 168 28| FREER |[BAEML 42,500 |22

8A16H 29| FRYBER |BAEMH 79,200 |3—F 4> R—Fit
8A 168 0|FRHBER |[BEAEML 16,000 |CDZ>#
8A16H NFRUBR |BEAHEM 62,920 (Y f=f=H< vt
8H16H R FEREBEBR |BABMu 18,700 [sao7exstimm -3
8A16H BFRABR |(BEAHEM 21,560 [7O745—X
8A 168 MFRBER (|(BEAEM 30910 |5A5|E
8A16H B|FRUABR |BEAHEM 42,500 (2>

8A 168 6| FREBBER |BEAEML 14,850 (HliaRAKE
8A16H JNEREER  |reErmiovzustammen 36,300 |#%#H%




